
 13.5 THRU
16 HOLES

13.5 THRU 
16 HOLES

49
.6

(C
oG

)

0.7
(CoG)

26.75
679.45 H.C.

17.25
438.15 H.C.

INPUT COUPLING AND 
ROTATE CLOCKWISE
AS VIEWED

OIL FILL PLUG/ OIL LEVEL (COLD)
FILL TO BOTTOM OF PORT
M33 X 2.0 METRIC PORT
ISO 6149

OIL STRAINER
M33 X 2.0 METRIC PORT
ISO 6149

LOW OIL LEVEL SWITCH
M18 X 1.5 METRIC FLAT FACE PORT
ISO 9974
CONNECTOR: DEUTSCH DT04-3P OIL DRAIN

M33 X 2.0 METRIC PORT
ISO 6149
19mm CLEARANCE FOR REMOVAL

A

A

 672.0 

 422.8 

 25.4 

 12.0 

 326.0 

 
30

9.
97

±0
.0

3 

 1
06

5.
6 

R
EF

. 

233.1
(CoG)

 309.6 

 180.0  73.0 

 13.0 
 4.4 

49
.6

(C
oG

)

 3
12

.4
  4
54

.4
 

 6
11

.2
 

25
.4

97
6±

.0
02

4
64

7.
63

8±
0.

06
2

18
.3

74
0

46
6.

70
0

 
71

1.
2 

A

C

D

EE

QBC

 G2

SO 

MANUAL BRAKE
RELEASE
(FOR SERVICE ONLY)
SEE NOTE "A"

CENTER OF 
GRAVITY
(CoG)

BREATHER PLUG
G 3/8

AUXILIARY FILL PORT
1-1/4" CODE 61

SEE NOTE "B"

M12x1.75-6H 24.0
4 PLACES AS SHOWNOIL LEVEL

INDICATOR
(OPERATING)

A

A

A

A

1

2

 550.0 

M16X2.0 - 6H 
PER DIN 332, FORM D
SEE DETAIL "D"

 1
78

.2
 

 178.3  178.2 

 60.8 

12X M22X2.5 - 6H (SEE DETAIL "C")
EQUALLY SPACED  4

66
.5

 

 275.0 

 360.0 H.C. 

 226.5  226.5 

F

SI 

OUTPUT SHAFT
ROTATE COUNTER-CLOCKWISE

AS VIEWED

MIN. OIL LEVEL
OPERATING AT
RATED SPEED

SEE NOTE "B"

LIFTING BRACKETSLIFTING BRACKETS

OIL DRAIN
M33 X 2.0 METRIC PORT
ISO 6149
19mm CLEARANCE FOR REMOVAL

SHIPPING SCREWS (4X) 
SEE NOTE "G"

A

B

REMOTE MOUNTED 
ELECTRONIC CONTROLLER & 
BRACKET (SHIPPED LOOSE)
SEE INSTALLATION DRAWINGS:
CONTROLLER : PX1040894, 
BRACKET : PX1037967

A

A

DETAIL A 
SCALE 1 : 3

 U 

 X 
 X 

 Z  G1

QAC

TAC

56.6
EFF. DEPTH

36.0
EFF. THD.

 
24

.0
 

 20.6 

DETAIL C 
SCALE 1 : 3

IMPORTANT:
- ALL BOLT HOLES MUST BE USED
  FOR MOUNTING SUPPORT PLATE
- USE PROPERTY CLASS 10.9 FASTENERS

DETAIL B 
SCALE 1 : 1

DETAIL F 
SCALE 1 : 3

BRAKE SOLENOID
SEE NOTE 'C'

CLUTCH SOLENOID
SEE NOTE 'C'

ENGAGE READY

ENGAGED

RELEASED

36.0
EFF. DEPTH

24.0
EFF. THD.

 12.0 

DETAIL D
SCALE 1 : 3

4.
24

95
±.

00
05

10
7.

93
7±

0.
01

3

 
5.20
132.1  

4.51
114.5
KEY

VIEW E-E

 
1.

00
25

.4
 

 
4.69
119.0  

NOTES:
MANUAL BRAKE RELEASE:A.
SEE DETAIL 'B' AND DIAGRAM
 
MANUAL BRAKE RELEASE SWITCH:B.
SWITCH IS NORMALLY CLOSED
WHEN MANUAL BRAKE RELEASE IS 'ENGAGED'

 
PROPORTIONAL CONTROL VALVE AND SOLENOID OPERATION:C.
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY TO 

BATTERY/ POWER SUPPLY VOLTAGE. 
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC

CONTROL SYSTEMS OR MODULES
 

ALL POINTS AVAILABLE FOR TESTING ARE CODED   .D.
 

ALL PLUGS AND TEST PORTS    TO BE E.
TORQUED PER S574 O-RING PORT SPECIFICATIONS 
(SEE OWNER'S MANUAL)

 
REFER TO MANUAL FOR RECOMMENDED OIL, CHECKING, ANDF.
MAINTENANCE PROCEDURES
 

G.  REPLACE M22 SHIPPING SCREWS (4X) WITH PROPER LENGTH SCREWS 
      TO SECURE SUPPORT PLATE. REFER SERVICE MANUAL FOR DETAILS.

MANUAL BRAKE RELEASE DIAGRAM

1  INPUT MOUNTING FACE AND REFERENCE PLANE

2  SUPPORT PLATE MOUNTING FACE

TEST PORTS

SYMBOL DESCRIPTION PORT/ STANDARD DESCRIPTION CLEARANCE FOR 
REMOVAL (mm)

ELECTRICAL 
CONNECTION

G1 LUBE M12 X 1.5 / ISO 6149 O-RING PORT 11.5 -

G2 LUBE M14 X 1.5 / ISO 9974 FLAT FACE PORT 12 -

QAC FLOW AFTER COOLER M27 X 2.0 / ISO 6149 O-RING PORT 20 -

QBC FLOW BEFORE COOLER 1-1/16" / UNF O-RING PORT - -

SI
INPUT SPEED SENSOR
(77 PULSES PER REV.) 5/8"-18 / UNF FLAT FACE PORT - DEUTCH 

DT04-3P

SO
OUTPUT SPEED SENSOR

(60 PULSES PER REV.) 5/8"-18 / UNF FLAT FACE PORT - DEUTCH 
DT04-3P

TAC TEMPERATURE AFTER COOLER M12 X 1.5 / ISO 6149 O-RING PORT 27 DEUTCH 
DT06-2S

U BRAKE PRESSURE M12 X 1.5 / ISO 6149 O-RING PORT 11.5 -

X MAIN PRESSURE M12 X 1.5 / ISO 6149 O-RING PORT 11.5 -

Z CLUTCH PRESSURE M12 X 1.5 / ISO 6149 O-RING PORT 11.5 -

D C B A

1

2

3

4

EF

5

DESCRIPTION:

HEAT TREAT:SIMILAR TO:

kgWEIGHT:
MATERIAL:

SHEET:

DRAWN BY:

SCALE:

METRIC

DATE:

REV:DWG
SIZE: A1

RACINE, WI 53403 - USA
UNLESS OTHERWISE SPECIFIED

MACHINED DIMENSIONS
X.          0.75
X.X        0.25
X.XX      0.13

ALL ANGULAR TOLERANCES ±1°
GEOMETRIC TOLERANCING

PER ASME Y14.5M 1994

2kg-m
2

 WR  :

A 1 OF 1

1:5.5

INSTALLATION
HPTO, HP1200

 
 

 
 1027950Q

566
 

NOTICE!  THIS PRINT CONTAINS PROPRIETARY INFORMATION AND IS 
NOT TO BE USED IN ANY MANNER DETRIMENTAL TO THE INTEREST OF

TWIN DISC, INCORPORATED
THIS NOTICE IS NOT INTENDED TO NULLIFY OR LIMIT RIGHTS 

GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT.

APPROVED BY:

HP1200I0FIRST USE MODEL:

FIRST USE ASSEMBLY:S1041124

REV CHANGE NO. DATE
06/17/2021A 

THIRD ANGLE
PROJECTION

CHECKED BY:
YU

4/5/2018

ES

DAJ

1027950R
1025420W Rev. A

ECNWF-101805


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5
	Detail View A (1 : 3)
	Detail View C (1 : 3)
	Detail View B (1 : 1)
	Detail View F (1 : 3)
	Drawing View19
	Detail View D (1 : 3)
	Drawing View21
	Drawing View23


